
https://www.passapply.com/c2090-730.html
2024 Latest passapply C2090-730 PDF and VCE dumps Download

 

 

 

C2090-730Q&As

DB2 9 Family Fundamentals

Pass IBM C2090-730 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c2090-730.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2090-730 PDF Dumps | C2090-730 VCE Dumps | C2090-730 Exam Questions                                1 / 3

https://www.passapply.com/c2090-730.html
https://www.passapply.com/c2090-730.html
https://www.passapply.com/c2090-730.html


https://www.passapply.com/c2090-730.html
2024 Latest passapply C2090-730 PDF and VCE dumps Download

QUESTION 1

Which of the following resources can be explicitly locked? 

A. Row 

B. Page 

C. Table 

D. Column 

Correct Answer: C  

 

QUESTION 2

Which two of the following authorities allow a user to create a new database? 

A. SYSADMN 

B. SYSCTRL 

C. SYSMAINT 

D. DBADM 

E. CREATEDB 

Correct Answer: AB 

 

 

QUESTION 3

Which of the following is a valid wildcard character in a LIKE clause of a SELECT statement? 

A. % 

B. * 

C. ? 

D. \ 

Correct Answer: A 

 

 

QUESTION 4
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Given the following statement: 

SELECT hyear, AVG(salary) 

FROM (SELECT YEAR(hiredate) AS hyear, salary 

FROM employee WHERE salary > 30000) 

GROUP BY hyear 

Which of the following describes the result if this statement is executed? 

A. The statement will return the year and average salary for all employees that have a salary greater than $30,000,
sorted by year. 

B. The statement will return the year and average salary for all employees hired within a given year that have a salary
greater than $30,000. 

C. The statement will return the year and average salary for all years that every employee hired had a salary greater
than $30,000. 

D. The statement will return the year and average salary for all years that any employee had a salary greater than
$30,000. 

Correct Answer: B 

 

 

QUESTION 5

Which of the following DB2 objects are publicly referenced names that require no special authority or privilege to use
them? 

A. View 

B. Alias 

C. Table 

D. Package 

Correct Answer: B 
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